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2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
nEd 4,341,921 3,314,602 1,027,319
2 249,000 0 249,000
== 175,012 96,887 78,125
Al 3,917,909 3,217,715 700, 194
zsns s4EXA 4,207,955 3,175,681 1,032,274
= 249,000 0 249,000
< 175,012 96,887 78,125
Al 3,783,943 3,078,794 705,149
249 HEXH 1,192,280 910,584 281,696
< 26,482 23,057 3,425
Al 1,165,798 887,527 278,271
2 Y HA HEXS 906,300 607,000 299,300
202 04| 1,800 2,000 A200
01 2 Y| 1,800 2,000 A200
OISR & IsSKHBASIMYH NS o
HI A& 1,800,000 1,800 2,000 2200
203 R F=&H| 4,500 5,000 AB00
03 AMEZ=XHAR2FZXY| 4,500 5,000 A500
OUS#HHN AMF=EALFXYH|
A& 4,500,000 4,500 5,000 A500
307 GI2t0IH 900,000 600,000 300,000
09 2LAHEXZ 900,000 600,000 300,000
O2+giH 22X 23 900,000,000 900,000 600,000 300,000
AMUHA THEXS(HHMESS) 228,705 246,239 N17,534
308 XXIHHSOIA 228,705 246,239 N17,534
05 XXIESH2ES 228,705 246,239 A 17,534
OALUHA HEXH ZE 228,705,000 228,705 246,239 A17,534
MAZEA SSXH 6,930 7,000 AT70
< 3,425 0 3,425
Al 3,505 7,000 N3,495
307 GI2t0IH 6,930 7,000 AT0
== 3,425 0 3,425
Al 3,505 7,000 A3,495
09 22+9HEXZ2 6,930 7,000 AT0
O249H IAMIEHX XX
AA 6,930,000 6,930 7,000 AT70
< 3,425 0 3,425
Al 3,505 7,000 AN3,495
DWESZH N ALY 1,349,500 1,012,000 337,500
=z 99,000 0 99,000
< 29,700 0 29,700
Al 1,220,800 1,012,000 208,800
HNSAMNE8 RAES 282,500 283,000 A500
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207 & ROoH e 19,500 20,000 A500
01 gAY 19,500 20,000 A500

OXSEA S2H 24 Z3E 19,500,000 19,500 20,000 A500

WSOHMAILZS FHH & &5 799,000 699,000 100,000
401 Al&HIZL LY 799,000 699,000 100,000
01 Al&H] 795,000 695,000 100,000

OLH TA(KHE MEAM) X122
Z& 300,000,000 300,000 200,000 100,000
WEAD 22 ALY 198,000 0 198,000
2 99,000 0 99,000
[ 29,700 0 29,700
Al 69,300 0 69,300
401 Al&HIZL Y 198,000 0 198,000
2 99,000 0 99,000
[= 29,700 0 29,700
Al 69,300 0 69,300
01 Al&H] 198,000 0 198,000
O WEAD 2R HEAY 198,000,000 198,000 0 198,000
= 99,000 0 99,000
[= 29,700 0 29,700
Al 69,300 0 69,300

WSO OlsEo =& 70,000 30,000 40,000
307 QI2tolA 70,000 30,000 40,000
02 QIZHAAEX 70,000 30,000 40,000

ONEXLN O/SEHIEXS 2 CHH ZHIX
2 ZA 70,000,000 70,000 30,000 40,000
SEotMEH 2= ,055,598 755,598 300,000
2 150,000 0 150,000
[= 118,830 73,830 45,000
Al 786,768 681,768 105,000
HE0IESTRY ALY 300,000 0 300,000
2 150,000 0 150,000
[ 45,000 0 45,000
Al 105,000 0 105,000
401 Al&HI LS 300,000 0 300,000
2 150,000 0 150,000
[ 45,000 0 45,000
Al 105,000 0 105,000
01 Al&H] 300,000 0 300,000
O HElol8&s2Y CCTVA X 300,000,000 300,000 0 300,000
2 150,000 0 150,000
< 45,000 0 45,000
Al 105,000 0 105,000
EYUFEI NESHS(ZXUNHAILELSH) 203,522 179,922 23,600
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201 Yer2 Y| 68,702 72,802 A4,100
01 ALR eIt 15,800 21,000 75,200
OFIAEAZ A 2% 7,000,0002! 7,000 1,000 A4,000
OF IS EAI =Y A3 2,500,009 2,500 3,000 AB00
OAZHA & E22 HMZ  HF 5,400,000 5,400 6,000 £600
ONMHE 42 23 900,0002 900 1,000 A100
2 222 52,902 51,802 1,100
OFIA SaXy 282 600, 0002! 600 0 600
OFIA S NHSIA 500, 0002 500 0 500
202 04t 2,700 3,000 A300
01 2Uhoit] 2,700 3,000 A300
OSEFI NSSH0H  FF 2,700,008 2,700 3,000 A300
405 THAHF S 29,000 1,000 28,000
01 RAUSEHSH| 29,000 1,000 28,000
OFIA Sy 7Y 28,000,0002 28,000 0 28,000
EXE RN (FABALSEIH) 387,055 297,577 89,478
TYENY KA 22 157,749 164,420 £6,671
201 Yer2 YY) 157,749 164,420 26,671
01 AR eIt 38,849 45,520 £6,671
OFIIHHPAMNY S22 HH 3,200,008 3,209 3,960 AT51
ORIINHZATYUAMN 248
AT 450,002 450 500 A50
OgstBeIth@ 442  FH 3,300,008 3,300 3,960 2660
ozexu=Y 23 1,890,000% 1,890 2,100 £210
OUEEXFXF 2l HHIYT 23 0 0 2,000 A2,000
OSUNBSTRE AR ZEF 30,000,0008 30,000 33,000 3,000
CEIENESEEEY 229,306 133, 157 9, 149
801 0OiIHI bl 229,306 133, 157 %, 149
01 off il 229,306 133, 157 9. 149
ool A 229,306,002 229,306 133, 157 9, 149
sEx0 HysS=H 39,285 41,050 A1,765
rgs=ae 39,285 41,080 A1,765
rgs=ae 25,650 25,900 A 250
201 LBty 25,650 25,900 A250
01 ALR eIt 2,250 2,500 A250
ONER L HARE e HARE
A 2,250,009 2,250 2,500 A 250
REXNDEHR 2T L 4 12,555 3,950 A1,39
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OXSX BEHR DXNS M=
2 1,800,002 1,800 2,000 A200
OHEX 2SaeR 51 012
A 2,7008 + 5002 X 1,350 1,500 A150
202 018 1,080 1,200 AT120
01 =UHoid] 1,080 1,200 A120
ONSXBENZ D40l  HF 1,080,008 1,080 1,200 A120
405 Xrar3 S| 8,325 9,250 £925
01 XML SEFHSH) 8,325 9,250 £925
ONZVEHE DNAMEY BRI L 28|
¢ A% 8,325,002 8,325 9,250 £925
SRHIY PN HE 1,080 1,200 A120
202 01t 1,080 1,200 A120
01 =uoid] 1,080 1,200 A120
ORZEIY NSHE0H  ZF 1,080,008 1,080 1,200 A120
HYSAAH (RSB D) 9,431 97,871 3,440
dlEedH (RSET DY) 3,780 4,200 A420
SACIAH(REHH D) 3,780 4,200 £420
203 REZH| 3,780 4,200 £420
M PAHSYYRETY 3,780 4,200 A420
ORH2YYLEEHI (302015}
A 315,008 * 122 3,780 4,200 A420
JI2 A (DRSS 67.645 70,170 ~2,525
2 AL (RS 67,645 70,170 £2,525
201 2er | 18,225 20,250 £2,025
01 At 18,225 20,250 £2,025
ORH2YAL2R2IY A 18,225,002 18,225 20,250 £2,025
202 0it] 49,420 49,920 A500
01 =uHoid] 49,420 49,920 500
O=L0ibl A 49,420, 0002 49,420 49,920 A500
EEENESEIVEEEERT 4,455 4,950 A 495
SIEEENESEEED 4,455 4,950 A495
201 2sr2 | 4,455 4,950 A 495
01 AtS22ibl 4,455 4,950 N495
OFXNZSLIANSY AR B2
A 4,455,002 4,455 4,950 A 495
HeES (RS ) 250 0 250
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